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Mankiw Ch 23-35  (2006/06/01, 9:10-10:50 am)  
I. Multiple Choices (單選題，42 points, with 3 points for each question)

注意：答案請寫在選擇題最後一題下面的答案格上。
Ch 30

1. The cost of changing price tags and price listings is known as

a. inflation-induced tax distortions.

b. relative-price variability costs.

c. shoeleather costs.

d. menu costs.
Ch 34

2. Critics of stabilization policy argue that

a. there is a lag between the time policy is passed and policy has an impact on the economy.

b. the impact of policy may last longer than the problem it was designed to offset.

c. policy can be a source of, instead of a cure for, economic fluctuations.

d. All of the above are correct.

Ch 30

3. As the price level increases, the value of money
a. increases, so people want to hold more of it.
b. decreases, so people want to hold more of it.
c. increases, so people want to hold less of it.
d. decreases, so people want to hold less of it.

Ch 31

4. Connie, a Taiwanese citizen, buys bonds issued by an automobile manufacturer in Sweden. Her expenditures are Taiwan’s

a. foreign direct investment that increase Taiwan’s net capital outflow.

b. foreign direct investment that decrease Taiwan’s net capital outflow.

c. foreign portfolio investment that increase Taiwan’s net capital outflow.

d. foreign portfolio investment that decrease Taiwan’s net capital outflow.
Ch 24

5. In Japan in 2000 nominal interest rates were 1.5 percent and the inflation rate was –.5 percent. The real interest rate was

a. 1 percent.

b. 2 percent.

c. –2 percent.

d. –1 percent.

Ch 29

6. If the reserve ratio is 5 percent and a bank receives a new deposit of $500, this bank

a. must increase its required reserves by $25.

b. will initially see its total reserves increase by $500.

c. will be able to make a new loan of $475.

d. All of the above are true.
Ch 23

7. Which of the following questions is more likely to be studied by a microeconomist than a macroeconomist?

a. Why do prices in general rise by more in some countries than others?

b. Why do wages differ across industries?

c. Why do production and income increase in some periods and not in others?

d. Why has unemployment rate changed over time?
Ch 31

8. According to purchasing-power parity theory, if a McDonald's Big Mac cost $3 in the United States and 90 N.T. dollars in Taiwan, then the nominal exchange rate should be
a. 30 N.T. dollars per U.S. dollar.
b. 1/30 N.T. dollars per U.S. dollar.
c. 180 N.T. dollars per U.S. dollar.
d. None of the above is correct.
Ch 34

9. Assume that the MPC is 0.75. Assume that there is a multiplier effect and that the total crowding-out effect is $6 billion. An increase in government purchases of $10 billion will shift aggregate demand

a. right by $34 billion.

b. right by $10.5 billion.

c. left by $1.5 billion.

d. left by $46 billion.

Ch 28

10. Suppose that Taiwan’s adult population was about 15 million, the labor force participation rate was 60 percent, and the unemployment rate was 5 percent. What was the number of people employed and the number of people unemployed?

a. about 15 million and 9 million.

b. about 9 million and 4.5 million. 

c. about 9 million and 0.45 million.

d. about 8.55 million and 0.45 million.

Ch 23

11. Suppose that over the last twenty-five years a country's nominal GDP grew to four times its former size. In the meantime population grew 50 percent and prices rose 200 percent. What happened to real GDP per person?
a. It more than doubled.
b. It rose, but less than doubled.
c. It was unchanged.
d. It fell.

Ch 27
12. Eddie is risk averse. Which of the following is true about Eddie?

a. His marginal utility of wealth increases as his income increases.

b. He will not accept bets where his probability of winning and losing a dollar are the same.

c. both of the above

d. neither of the above

Ch 23

13. Suppose that Wisconsin produces cheese and fish. In 2002, 20 units of cheese are sold at $5 each, and 8 units of fish are sold at $50 each. In 2001, the base year, the price of cheese was $10 per unit, and the price of fish was $75 per unit.

a. Nominal 2002 GDP is $800, real 2002 GDP is $500, and the GDP deflator is 160.

b. Nominal 2002 GDP is $500, real 2002 GDP is $800, and the GDP deflator is 160.

c. Nominal 2002 GDP is $500, real 2002 GDP is $800, and the GDP deflator is 62.5.

d. Nominal 2002 GDP is $800, real 2002 GDP is $500, and the GDP deflator is 62.5.

Ch 33

14. The misperceptions theory of the short-run aggregate supply curve says that if the price level increases more than people expect, firms believe that the relative price of what they produce has

a. decreased, so they increase production.

b. increased, so they increase production.

c. decreased, so they decrease production.

d. increased, so they decrease production.

II. 申論題 (總分: 58 分)
答案請直接寫在題目卷上。
申論分析題請做圖與說明過程。
Ch 32
1. Suppose that government runs a greater budget deficit, please draw graphs and (Total: 15%)
(1) show how this policy affects public saving, private saving, national saving, domestic investment, the interest rate. (7%)
(2) in addition, show how this policy affects net capital outflow, the exchange rate, and the trade balance in the long run. Explain your answer. (8%)
Ch 30-Ch32
2. Suppose that a country's central bank increases the money supply.  Please draw graphs and show how this policy affects price level in the long run.  Also indicate how this policy will affect the nominal exchange rate. Explain your answer. (14%)
Ch 33
3. Suppose a recession overseas causes foreigners to buy fewer Taiwan goods.  Please draw graphs and explain the short-run and long-run effects on output and the price level, assuming policymakers take no action. (14%)
Ch 34

4. The economy is in a recession with high unemployment and low output. (Total:15%)
(1) Use a graph of aggregate demand and aggregate supply to illustrate the current situation. Be sure to include the aggregate demand curve, the short-run aggregate supply curve, and the long-run aggregate-supply curve. (3%)
(2) Identify an open-market operation that would restore the economy to its natural rate. (2%)
(3) Use a graph of the money market to illustrate the effect of this open-market operation in the short run. Show the resulting change in the interest rate. (5%)
(4) Use a graph similar to the one in part (1) to show the effect of the open-market operation on output and the price level. Explain in words why the policy has the effect that you have shown in the graph. (5%)
